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QUESTION 1

A storage administrator with a VNX Unified solution is using the CLI to monitor the daily storage performance. They
must type long commands to examine the statistical types and names to get the desired results. You have been asked
to accelerate and ease the monitoring tasks.

What is the most suitable solution?

A. Create user-defined statGroups

B. Use Unisphere Statistics for File

C. Use Celerra Monitor Tool

D. Collect statistics from log files

Correct Answer: A

QUESTION 2

Click the calculator icon in the upper left-hand corner.

An application generates 500 random 8 kB IOPS with a R/W ratio of 3:1. An asynchronous mirror is started on the
application LUN. The update cycle is configured to be 30 minutes, and updates take 15 minutes to complete. Assume
that the

data rate is constant.

What is the minimum space that should be configured for the Reserved LUN Pool on the secondary VNX?

A. 879 MiB

B. 7,032 MiB

C. 14,064 MiB

D. 16,250 MiB

Correct Answer: B

QUESTION 3
You designed the disk layout on a VNX storage system for a large client. They have a very large amount of basic file
data consisting of Word documents and text files. The data needs to be accessible but sits for long periods of time

without activity.

You decided to place this data on a thin LUN and compress it to maximize capacity. The client is concerned about how
much capacity they will reclaim with compression.

Based on the data that is going to be placed on the compressed LUN, what compression ratio will the client typically
see?
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A 2:1

B. 3:1
C. 41
D. 8:1

Correct Answer: A

QUESTION 4

Refer to the exhibit.

A large 10 spans multiple disks, and 2 stripes.

How will the stripe crossing counter and the disk crossing counter increase?
A. 1 stripe crossing and 1 disk crossing

B. 1 stripe crossing and 5 disk crossings

C. 2 stripe crossings and 1 disk crossing

D. 2 stripe crossings and 5 disk crossings

Correct Answer: A

QUESTION 5

How do you change the Allocation Owner of a FAST VP pool LUN to match the Default SP owner?
A. The LUN must be migrated to a new LUN with the desired Allocation Owner.

B. Trespass the LUN to the SP of the desired Allocation Owner.

C. Change the Allocation Owner in the LUN properties within Unisphere.

D. Run naviseccli lun -owner to change the Allocation Owner.

Correct Answer: A
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